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PART - A

1. Which lake produces Sodium Sulphate salt in Rajasthan State?

A. Sambhar C. Didwana lake

B. Tal Chhapar D. Pachpadra
2. Jaisalmer is located 575 kilometres ... from Jaipur.

A. North C. East

B. West D. South

3. Where is Arid Forest Research Institute situated in Rajasthan?
A. Jodhpur C. Chittorgarh
B. Udaipur D. Tijara

4. Which one of the following is incorrectly matched?
A. Mabhi Bajaj Sagar Project— Gujarat and Rajasthan
B. Chambal Project—Rajasthan and Madhya Pradesh
C. Beas Project.—Rajasthan, Punjab and Haryana
D. Indira Gandhi Canal Project—Rajasthan and Punjab

5. Beneshwar fair is organized on the delta of following river?

A. Mabhi and Som C. Banganga and Gambhir

B. Chambal and Banas D. None of the above

6. Panchayati Raj was introduced in Rajsthan in the year-

A. 1959 C. 1965
B. 1951 D. 1975
7. Which river in Rajasthan crosses tropic of cancer twice during its total flow:
A. Banas C. Mahi
B. Luni D. Chambal

8. Where is Rock Phosphate found in Rajasthan

A. Udaipur C. Bhilwara

B. Rampur D. Banswara
9. Major levels or tiers of Panchayat Raj includes

A. Gram Panchayat C. Zila Parishad

B. Block Panchayat D. All above

10. Rajasthan State Industrial Development and Investment Corporation (RIICO) has signed an MoU
with a Japanese company for establishment of Japanese units in Neemrana Industrial area. That

Japanese company is?
A. Jetro C. Honda Cial
B. Hetro D. Mitsubisi

11. Identify the incorrect pair amongst the following relating the freedom fighters of Rajasthan with

the area of their activities

A. Arjun Lal Sethi : Udaipur C. Kesari Singh Barhath : Mewar

B. Jai Narayan Vyas : Jodhpur D. Govind Giri : Vagad

12. Which of the following is not a source of revenue to the village panchayats ?
A. Property Tax C. Land Tax
B. House Tax D. Income Tax

continued...
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14.

15.

16.

17.

18.

19.

20.

In 1992, with which amendment the historic Panchayati Raj bill was adopted by the Parliament ?

A. 70th C. 74th

B. 72nd D. 68th

How many days of employment has been guaranteed in MNREGA —
A. 60 C. 80

B. 100 D. 120

Which of the following is not the duty of a District Magistrate ?
A. Maintenance of Law and Order

B. Collection of land revenue

C. Implementation of poverty alleviation programmes

D. Conduct of local bodies elections

Which of the following cities of Rajasthan are having NAGAR NIGAM

A. Jaipur C. both the above

B. Jodhpur D. None of the above
Present Rajasthan legislative assembly is

A. 12th C. 14th

B. 13th D. 15th

In which month of Hindu calendar is Kaila Devi Fair held?

A. Phalguna C. Vaisakha

B. Chaitra. D. Jyaistha

Brahma Temple is situated in which of the following District?

A. Ajmer C. Jaipur

B. Udaipur D. Bikaner

Judges of Rajasthan High Court are appointed by

A. President of India C. Chief Minister of Rajasthan
B. Governor of Rajasthan D. Prime minister of India
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PART - B

Which of the following relation is correct :

SOowp

The standard value of atmospheric pressure is:
A. 760 mm of water
B. 1 Pascal

Specific volume of fluid is the ratio of:
A. Mass/volume
B. Volume/mass

The unit of kinematic viscosity is:
A. Sec/meter’
B. Meter’/sec

C.
D.

Gauge pressure = Atmospheric pressure — Absolute pressure
Vacuum pressure= Absolute pressure — Atmospheric pressure
Atmospheric pressure=Absolute pressure — Gauge pressure
Gauge pressure= Absolute pressure + Atmospheric pressure

10.33 meter of water
1 kgt/cm?

Weight/volume
Volume/weight

Newton-sec/meter”
Kilogram-meter/sec’

The mass density of one litre of diesel of relative density 0.6 is:

A. 1000 kg/m’
B. 6000 kg/m’

The continuity equation is based on the principle of:

A. Conservation of energy
B. Conservation of momentum

The working principle of hydraulic press is based on:

A. Bernoulli’s theorem
B. Continuity equation

Piezometer is used to :

A. measure gauge pressure of very high intensity
B. measure gauge pressure of moderate intensity

C.
D.

60 kg/m’
600 kg/m’

Conservation of mass
Conservation of both energy and mass

Euler’s equation
Pascal law

measure gauge pressure of very low intensity
None of the above

Which of the following relation between coefficient of discharge(Cyq), coefficient of

contraction(C.) and coefficient of velocity(C,) is true:

A. Cq= CJ/Cy
B. C. = CdC,

Pitot-tube is used for measuring the:
A. Discharge of flow
B. Pressure of flow

The manometers are used to measure the:
A. Discharge of liquid
B. Velocity of liquid

Cs = CJ/C.
Cs = Cc+Cy
Velocity of flow

Temperature of flow

Pressure of liquid
Density of liquid

continued...



32. Which of the following relation is true for pressure intensities at different points A, B, & C as

33.

34.

35.

36.

37.

38.

39.

shown in Figure (1):

— Woater

€
Figure 1
A. Pp, >Pp>Pc C. Pg>Pc>Pa
B. Pc>Pg>Pa D. PAo>Pc<Pj

The orifice is called large orifice when:

A. The head of liquid is more than five times the depth of the orifice

B. The head of liquid is less than five times the depth of the orifice

C. The head of liquid is more than ten times the depth of the orifice

D. The head of liquid is less than ten times the depth of the orifice

The reciprocal of Poisson’s ratio is:

A. lateral strain/longitudinal strain C. longitudinal stress/lateral stress
B. lateral stress/longitudinal stress D. longitudinal strain/lateral strain

Which of the following material is brittle:
A. Mild steel C. Copper
B. Aluminum D. Castiron

According to Hooke’s law, it states that

A. Stress is inversely proportional to strain

B. Stress is directly proportional to modulus of elasticity
C. Stress is directly proportional to strain

D. Stress is inversely proportional to modulus of elasticity

Volumetric strain due to single direct stress(p )is given by:
A 2+ 2p D. 2(1_2)
E E u
B. §(1 —2u)
c 2(1+2)
E u
For solid circular section, the maximum shear stress at the neutral axis is :
A. 50% more than the mean shear stress C. 33.33% more than the mean shear stress
B. 66.66% more than the mean shear stress D. 99.99% more than the mean shear stress
When a point load ‘W’ is acting at free end of cantilever, then what will be the shape of shear
force diagram for it:
A. Triangular C. Elliptical
B. Parabolic D. Rectangular

continued...
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41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

What is the magnitude and position of maximum bending moment for a simply supported beam
carrying total load ‘W’ distributed uniformly over whole span ‘L’:

WL WL

A. e at centre of beam C. e at ends of beam
wL? WL2

B. Y at centre of beam D. Y at ends of beam

The moment of inertia of rectangular section having base ‘B’ and depth ‘D’ about its base is :

BD3 DB3
A — cC. —
12 6
DB3 BD3
B. — D. —
12 3
For beam of uniform strength, the maximum bending stress at all the sections along the length is:
A. not equal C. uniformly increasing
B. equal D. zero

Bulk modulus of material is the ratio of:

A. volumetric strain to direct stress C. direct stress to volumetric strain
B. change in volume to modulus of elasticity D. stress to strain

Strain developed perpendicular to the direction of force applied is:

A. linear strain C. volumetric strain

B. shear strain D. lateral strain

Which of the following is extensive property:

A. Density C. Temperature

B. Volume D. Pressure

Which of the following is water tube steam generator:

A. Cochran Boiler C. Lancashire Boiler

B. Locomotive Boiler D. Babcock and Wilcox Boiler

Which law of thermodynamics is also known as law of conservation of energy:

A. Zeroth law C. Both first law and second law

B. Second law D. First law

Which is the most efficient thermodynamic cycle:

A. Rankin cycle C. Joule cycle

B. Reversible Carnot cycle D. Modified Rankin cycle

Which thermodynamic process is also known as isochoric process:

A. Constant pressure process C. Constant enthalpy process

B. Constant temperature process D. Constant volume process

Orsat apparatus is used to find the :

A. Indicated horse power of I.C. engine C. Thermal efficiency of the I.C. engine

B. Composition of exhaust gases of [.C. D. Dryness fraction of steam
engine
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51. The efficiency of a reversible Carnot cycle operating between heat reservoir temperature T 1 and
heat sink temperature T» is given by:

A. T, C. L2
1~ 12 T1 - Tz
B. 7-1 _Tz D. T1 _Tz
T1 Tz

52. In adiabatic process, the heat exchanged between system and surrounding is:
A. More than zero C. Zero
B. Less than zero D. Depending upon system temperature

53. Which of the following is mounting of steam generator:
A. Superheater C. Economizer
B. Water level indicator D. Air preheater

54. Dryness fraction of wet steam is always:
A. zero C. More than one
B. one D. Less than one

55. A Carnot cycle consists of which of the following thermodynamic processes:
A. Two adiabatic and two constant volume processes
B. Two constant pressure and two adiabatic processes
C. Two Isothermal and two adiabatic processes
D. Two Isothermal and two constant volume processes

56. Which of the following thermodynamic cycle is most efficient for same compression ratio and
same heat input:
A. Diesel cycle C. Ottocycle
B. Dual cycle D. None of the above

57. According to Kelvin-Planck statement of second law of thermodynamic, it is not possible to have
efficiency of engine:
A. less than 100% C. zero
B. equal to 100% D. slightly less than 100%

58. Fins are generally provided on motorcycles engines:
A. for decreasing the heat transfer surface area
B. forincreasing the heat transfer surface area
C. for either increasing or decreasing the heat transfer surface area as per environmental
conditions
D. for neither increasing nor decreasing the heat transfer surface area

59. Dynamo is used to convert:
A. mechanical energy into electrical energy C. mechanical energy into chemical energy
B. electrical energy into mechanical energy D. chemical energy into electrical energy

6 continued...
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

Morse test is used to find the:

A. indicated thermal efficiency of single C. brake thermal efficiency of multi
cylinder engine cylinder engine

B. indicated horse power of multi D. mechanical efficiency of multi
cylinder engine cylinder engine

Carburettor is a part of

A. lubrication system of petrol engine C. fuel supply system of petrol engine
B. cooling system of petrol engine D. brake system of petrol engine
Which type of governing is used in compression ignition engine(C.I. engine):

A. Quantitative governing C. hit and miss governing

B. Qualitative governing D. combination governing

In two-stroke engine, the cycle completes in:

A. two revolution of crank shaft C. half revolution of crank shaft

B. one revolution of crank shaft D. four revolution of crank shaft
When crank shaft of engine is rotating at 240 rpm then rotational speed of cam shaft will be:
A. 480 rpm C. 120 rpm

B. 240 rpm D. 60 rpm

The charge sucked in cylinder during suction stroke of diesel engine is:

A. Diesel C. Diesel + Air

B. Air D. Diesel + Air + lubricating oil
In petrol engine, the heat is supplied at:

A. constant pressure C. constant entropy

B. constant temperature D. constant volume

The range of compression ratio for petrol engine is generally:

A 4-5 C. 15-20

B. 6-8 D. 30-40

The Correct firing order of four cylinder engine is:

A. 2314 C. 4231

B. 1342 D. 1234

Which types of lubrication system is used in two stroke petrol engine:

A. forced feed system C. petroil system

B. mechanical system D. gravity system
Which of the following number is used to show the quality of petrol:

A. cetane number C. Reynolds number
B. octane number D. fuel rating number

The thermostat valve is used in:
A. fuel supply system of engine C. ignition system of engine
B. cooling system of engine D. lubrication system of engine

continued...
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74.

75.

76.

77.

78.

79.

80.

81.

82.

How many minimum no. of links required for a kinematic chain?
A 6 C. 4
B. 5 D. 3

A device which converts the available energy into useful work is known as:

A. Structure C. Mechanism

B. Machine D. None of above

A device which controls the fluctuation of the speed in each cycle of an engine activities is known
as:

A. Governor C. Dynamometer

B. Fly-wheel D. None of above

In a friction clutch assembly, fly-wheel is situated on:

A. Driven shaft C. Inbetween driver & driven shaft
B. Driver shaft D. None of above

In which type of gears, the efficiency is less but speed reduction ratio is highest:

A. Spur gear C. Bevel gear

B. Helical gear D. Worm gear

If the axis of driver & driven gears are same then such gear train is known as:

A. Simple gear train C. Reverted gear train

B. Compound gear train D. Epi-cyclic gear train

Which type of gear train is used in watches & lathe machine :

A. Simple gear train C. Reverted gear train

B. Compound gear train D. Epi-cyclic gear train

Governor basically works to:

A. Control the speed C. Control fuel supply according to engine load
B. Control the fuel supply D. None of above

Example of spring controlled governor is:

A. Porter’s governor C. Watt governor

B. Proell governor D. Hartnell governor

Which types of brakes are mostly used in heavy motor-vehicles:

A. Mechanical type C. Hydraulic type
B. Electrical type D. Air-operated
For a V-belt drive, groove angle is in the range of:

A. 25-30° C. 30-40

B. 25-40¢ D. 35-4%
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83. Hydraulic efficiency of turbine is given by:
A power at the shaft of the turbine

power delivered by water to the runner
power delivered to runner

5 power supplied at inlet
C. power delivered to the runner
power delivered by water to the runner
D volume available at the shaft of the turbine

power supplied at the inlet of the turbine

84. Pelton wheel turbine is:
A. A inward radial flow turbine C. An axial flow turbine
B. A tangential flow turbine D. A mixed flow turbine

85. In water reaction turbine:
A. Only kinetic energy of water available at the inlet of the turbine
B. Both kinetic energy and pressure energy available at the inlet of the turbine
C. Only potential energy available at the inlet of the turbine
D. Both potential energy and kinetic energy available at the inlet of the turbine

86. Among the following turbines, which has highest specific speed:
A. Kaplan turbine C. Pelton wheel with single jet
B. Pelton wheel with more jets D. Francis turbine

87. Priming is generally essential in :
A. Reaction turbine C. Centrifugal pump
B. Reciprocating pump D. Gear pump

88. The phenomenon of cavitation occurs if the pressure of the flowing liquid at any point is:
A. More than vapour pressure of liquid C. Equal to vapour pressure of liquid
B. Less than the vapour pressure of liquid D. Falls below the atmospheric pressure

89. Air vessels are used in:
A. Centrifugal pump C. Hydraulic pump
B. Reciprocating pump D. Hydraulic intensifier

90. Pyrometer is used to measure the temperature of:
A. furnace C. environment
B. human body D. ice

91. If the length of the line and its angle of inclination are known, the line can be drawn in:
A. Absolute mode C. Polar mode
B. Incremental mode D. None of the above

92. Delta, Percent, Angle, Total, Dynamic are the options for command:
A. Extend C. Trim
B. Lengthen D. Chamfer

9 continued...
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94.

95.

96.

97.

98.

99.

For Refreshing the screen which command is used :

A. Regen C. Refresh

B. Redraw D. Redo

Loop, Rag, Lewis are the example of:

A. Set screws C. Stud

B. Locking devices D. Foundation bolt

In riveted joints, if d is diameter of rivets and p is the pitch of rivets, than :

A. P=3d C. P=2d+3
B. P=2d D. P=1.5d
Representative fraction(RF) of a scale is:
length of scale C _ actual size
actual size ’ length of scale
actual size D 1— length of scale
length of scale ’ actual size
If a point is below the H.P & behind the V.P then point is in which quadrant:
A. Fourth C. Second
B. Third D. First
In third angle projection, the top view of a body is always drawn:
A. Below the front view C. Left side of front view
B. Above the front view D. Right side of front view
A screw is specified by:
A. Major diameter C. Nominal diameter
B. Minor diameter D. Effective diameter

100. A shaft is connected to hub by:

A. By coupling C. By rivet
B. By nut & bolt D. By key

continued...
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